
2F4(2)
′ (mod 13)

blocks defect matrix

G : 1 1 8× 6
2 0 261 = χ2, ϕ2

3 = 2 0 262 = χ3, ϕ3

4 0 781 = χ6, ϕ6

5 0 3251 = χ8, ϕ8

6 0 3511 = χ9, ϕ9

7 0 3512 = χ10, ϕ10

8 = 7 0 3513 = χ11, ϕ11

blocks defect matrix

9 0 6241 = χ12, ϕ12

10 0 6242 = χ13, ϕ13

11 0 6501 = χ14, ϕ14

12 0 7021 = χ16, ϕ16

13 0 7022 = χ17, ϕ17

14 0 13001 = χ18, ϕ18

15 0 13002 = χ19, ϕ19

Block 1: ϕ1 ϕ4 ϕ5 ϕ7 ϕ15 ϕ20

11 = χ1 1 . . . . .
271 = χ4 . 1 . . . .
272 = χ5 . . 1 . . .
3001 = χ7 . . . 1 . .
6751 = χ15 1 . . . 1 .

17281 = χ20 . 1 1 1 . 1
20481 = χ21 . . . . 1 1
20482 = χ22 . . . . 1 1

ϕ1 = 11
ϕ4 = 271
ϕ5 = 272
ϕ7 = 3001
ϕ15 = 6741
ϕ20 = 13741


